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ENGLISH VERSION

1 (a0 Jamana Company Ltd. furnished you the following
information of the production :

1 Year | Sales (Rs.) | Profit {(Rs.)-
2013 4.00,000 40,000
2014 4,80,000 56,000

From the above data find out :

(1)
@)
(3)
(4)
(5)
(6)
)

P/V ratio

Fixed expenses

When sales is Rs. 3,60,000 find out profit
When loss is Rs. 8,000 find out sales.
Sales to earn profit of Rs. 80,000
Breakeven point

Margin. of safety at sales of Rs. 3,006,000

(b) Write a short note : Profit volume ratio.

1 @ @

(@)

(b) Write a short note
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OR

If per unit selling price of a product is Rs. 10
and variable expenses is Rs. 6, and iotal fixed cost
Rs. 1,20,000. Find out : P/V ratio and B.E.P. in
units and in Rupees.

The following information of a company for the
last two years results :

15

Year Sales (Rs.) | Profit (Rs.)
2013 54,000 1,200
2014 60,000 3,000

Calculate the following :
(1) P/V ratio
(2) Fixed expenses

(3) Breakeven point
{4) Margin of safety.

7

: Margin of safety.
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2  From the following balance sheet of Jayotsana Co. Ltd. 20
Prepare comparative statement with percentage :
Liabilities 2013 2014 | Assets 2013 2014
Equity | Land-
share cap. | 3,00,000{ 4,006,000 { Buiding | 2,00,000| 1,70,000
Pref Machinery | 1,80,000] 2,00,000
share cap. | 1,50,000{ 1,00,000 | Furniture 45,000{ 90,000
General Debtors 1,30,000( 2,00,000
Reserve 40,000{ 70,000 | Stock 77,000| 1,09,000
P&L Ale 30,000] 48,000 | Bills
Proposed Receivable 20,000 30,000
dividend 42,000 50,000 | Cash on
Creditors 55,000 83,000 | hand 15,000f 10,000
Bills Bank
payable 20,0001 16,000 | balance 10,000 8,000
Provision
- for tax 40,000 50,000
6,77,000| 8,17,000 6,77,000( 8,17,000
OR
2  Following is the profit and loss account of Durga ltd. 20
Prepare 100 percent statement.
Particulars Amt. Rs. | Particulars Amt. Rs.
Opening stock 75,000 | Sales 4,15,000
Purchases 1,85,000 | Stock 95,000
Wages | 13,200
Gross profit 2,36,800
5,10,000 5,10,000
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Salary 99,300 | Gross profit 2,36,800
Repairs 4,300 | Int. on
Rent and Taxes 1,800 | government bond 4,375
Travelling exps. 2,000
Discount 6,400
Directors fees 5,700
Bed debis 2,100
Debenture interest 18,000
Sundry expenses 2,350
Preliminary exps. 5,000
Dep. on machinery 30,000
Dep. on furniture 3,750
Advertisement 15,000
Net profit 45,475
2.41,175 2,41,175
The following particulars relate to the manufacture of 20
products J and B. Both the products use same raw materials :
Particulars Product J | Product B
(Per unit Rs.) |(Per unit Rs.)
Selling price 1,000 1,660
Direct material (Rs. 75 per kg) 300 600
Direct labour (Rs. 5 per hour) 200 360
Variable overhead 100 | 160
Fixed costs Rs. 7,60,000
Assuming raw materials as the key factor and availability
of which is 40,000 kgs. and the maximum sales potential
of each product being 8,000 units, find the product mix which
will vield maximum profit.
OR
9 [Contd...
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3 (@) The cost per unit of a factory are as follows : 10

Materials Rs. 20
Labour : Skilled Rs. 15
Labour : Other Rs. 20
Fixed expenses Rs. 25
Variable expenses Rs. 10

“Rs. 90

Per unit selling price of this product 1s Rs. 100. The
production capacity of factory is 10,000 units. But the
figures are given for the production of 8,000 units only.
One foreign customer purchase 2,000 units at Rs. 70
per unit. Would you advice the producer to accept this
order ? If the same order received from the local

merchant, what decision will you take.

() The following information obtained from the records 10

of a company :

Particulars Product X { Product Y
Per unit selling price 18 10
Per unit variable exps. 9 6

Total fixed exps. Rs. 9,000

Which sales mix would you recommend from the

following options to the management of company ?
(1) X 90 units and Y 130 units
(2) X 130 units and Y 90 units

3 X 110 units and Y 110 units-
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4 (a) From the following information calculate net monetary 10
gain or loss during the year 2014 :

1-1-2014 31-12-2014
Cash ' 30,000 40,000
Debtors 12,060 14,0066
Bills receivable 10,000 6,000
Outstanding expenses 2,000 3,600
Creditors 18,000 10,000
Bills payable 8,000 | 4,000
General price index 100 - 200

Average price index is 160.

(b) Explain current purchasing power method. 190
OR |

4 (a) The following is the brief information related to profit 10
and loss account for the year ended 31%" March, 2007.
Prepared on a HCA method of Khodiyar Ltd.

Particulars Amt. Rs. |Amt. Rs.
Sales 36,00,000
Less :Cost of good sold :
Opening stock 3,50,000
Purchases 17,00,000
20,50,000
Less : Closing Stock (FIFO) 2.,50,000 | 18,006,000
Gross profit 18,00,000
Less -Administrative exps. 2,20,0060
Selling and
distribution exps. 49,000
Depreciation 1,30,000
Int. on debenture o 70,000-
Provision for tax (31-3-14)| 2,80,000 § 7,49,000
10,51,000
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Price Index :
Opening 160, Closing 200, Average 180

Convert the above statement under the basis of CPP

method.
(b) Explain current cost accounting method. i0
5  What is Reporting ? Explain types of report in detail. 20
OR
5  What is management information system ? State its 20

definitions, characteristics and functions.
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